Professional PROFESSIONAL EXAMINATION BOARD
Pbexqminqtion Middle School Teacher Eligibility Test - 2018
board 17th Feb 2019 09:30AM

Topic:- Child Development & Pedagogy (CDP)

is associated with retardation in various aspects of development / e &
ﬁf"ua ugqell § Hear 9 931 81
1. Medium Intelligence / ACIH gﬁg"
2. No Intelligence / GO T}[fa' Tl
3. Higher Intelligence / 3Td q@’
4. Lower Intelligence / 3G gfa'
Correct Answer :-

. Lower Intelligence / Fg gﬁ

2) In child centred education, what the child has to learn should be / STel-hfga e &, a3
1 S drger TifeT, a8 fAFgan e aifye:

1. Judged through activities /ITfafafaat & aTeTawT @
2. Judged by the scores of their test results/3<Tch GJ&TT URUTAT & 3pi &

3. Judged according to the ability, interest, capacity and previous experience of the child /d<=d &1

TG, 3, &7AdT R Sl AT & IHFER

4. Judged according to the previous experience of the child /I=d & UG 3JHAd G AR

Correct Answer :-

« Judged according to the ability, interest, capacity and previous experience of the child /d=d &r

1T, 2, &TAT 3R U 3gHa & AR

3) Child centred education typically involves: / el Hfgd e & 3mdA ak W FFT anfAer

B’IFIT %’:
1. on the spot assessments/ﬂi?f a7 Hih W ZFLF?:I'IEF[



2. no Assessments/a"ﬂg EFJC/ZI'IEFH el

3. more summative assessments/37T%eh JTcHD d-‘Lvé-liChc-l

4. more formative assessments /3119 TTATCHD HedThed

Correct Answer :-

« more formative assessments /37T TTATHD d-jyﬁidno—l

4) Which of the following are features of progressive education? / &=ifaf@a & & sia-dt
yerfarefier fvam &t faQdwame g2

1. Instructions based solely on prescribed text books /faéer paa AaiRa arod gﬁ?ﬁf T
IR eI &l

2. Flexibility on the topics that the student would like to learn/3a7 Wl W FFadr
(FeifFafaferdt) s o @ aed ¥

3. Emphasis on lifelong learning and social skills/Sfiae Gded fQereT 3R Amenfaie wlerer o
SR &=

4. Emphasis on scoring good marks in examinations /U131 H 3T 3 ofld W IR Tl

Correct Answer :-

« Emphasis on lifelong learning and social skills/STiael Tded A9 3R ARAISIE Pl T
SR &l

5) Performance intelligence is measured by: / gl gﬂ;ﬁ' o e & GART AT SITdT .
1. Verbal Ability/ FIT&® 7T

2. Comprehension / HAST

3. Numerical Ability / H&ITcHD &THT

4, Picture Arrangement / IBERZCE

Correct Answer :-

« Picture Arrangement / /T cIaeT

6) "A thing can be learnt by the study of it as a totality" This statement is based on which
learning theory / "U& HfST Y THAAAT F T H WS JCIIT ¥ WWT T T §1" Tg
Fya frw fRraror Rguia v smafa @



1. Instrumental conditioning / SEEHC hBIRATAI
2. Insight Classical conditioning/ Fae® RRufaBa Uldheldd (3T8TSC FATT ™D HSIATAIT)

3. Trial and Error/ W-gﬁ' ey

4. Classical Conditioning/ FRUfafBa U] gele (FATT AR HSIRATM)

Correct Answer :-

« Classical Conditioning/ IBECIGIES] Ul Reled (FATT AT HoIRATIM)

7) The word ‘consistency’ is associated with: / e “WHATY” AW FafAd &
1. Personality / <dfthcd

2. Attitude / HATGRT

3. Intelligence / g@

4. Motivation / OROTI

Correct Answer :-

« Personality / dfthcd

8) The prejudice against a person on the basis of sex of that person is ./ & Ifda &
foer & 3R W, 39 wafFd & R@ae q@eE (v879) giar gl

1. Gender stereotype / ofaleh Fleagdr (SisX TEIRAEET)
2. Gender bias / off3Tp ASHTT (SisT A15319)

3. Gender identity / CILCR EEIG R EL 3-]'[?3%@[ )

4. Gender issue / oifolh el (&ES e EAD)

Correct Answer :-

« Gender bias / offf1p Feda (ST d15379)

9) The smallest bone i.e. stapes in the human body is in the ear. [ATIG WR H Fa& BIA
g3l i ¥ & & gt §1
1. Inner / 3eX

2. Middle / S &



3. None of these / 3AH & IS &l

4. External / g

Correct Answer :-

« Middle /7 & &

10) The last stage of psychosocial development is / ANATATTS® AT @1 3ifaw =or § -
1. Identity v/s. Confusion / Ugdld ddTH HHA

2. Trust v/s. Mistrust / fJa8ma aama 3ifasama

3. Generativity v/s. Stagnation / 3¢RdTl JATH SeXId
4. Integrity v/s. Despair / 37@sdT dATH AT

Correct Answer :-

« Integrity v/s. Despair / 37@adT a1 A1

11) The study of same children over a period of time is known as study. / Teh
fuiRa aa9 f 9 F v o= T=at & sreaga HEIIT F T A ST
ST R

1. Longitudinal / 37J¢d (dfeaNcgsael)

2. Cross-sectional / UTAfACATcHD (hIT TRl

3. Latitudinal / 37870 (SIcggeren)
4. Experimental / 9T foTeh

Correct Answer :-

« Longitudinal / 3{SEY (S=aNcgged)

12) Which of the following is a limitation of Eclectic counselling approach? / AFafaf@a qa
Fla-H agorelier WAL TReHIvr (sFafFes FEafar o) i Har &2

1. requires highly skilled counselors to handle the dynamic feature of this counselling approach / 38
WA AT H T ATeAD AAVAT B FAIRAT e & AT 31cafd Hrre
TRTANCGTAT3T Pl ITaRIHAT Bl B

2. more flexible approach of counselling / WA &1 37D gi%r%naazﬁ HECINI



3. more cost effective & practical approach / 3cafdd YHTA 3R I@eRe TiB®OT

4. more objective & coordinated approach of counselling / WA & 31¥F 87 3R Fgaafeaqa
HEEaL

Correct Answer :-

« requires highly skilled counselors to handle the dynamic feature of this counselling approach / 38
WA AT H T ATeAD AATAT B AT e & T 31cTfRd HreT
TRTANCGTAT3T T ITaRIHAT Bl B

13) Which of the following is the best way the teacher can guide children with special needs in

school education? / fAFafaf@a & ¥ #la-ur afier ¢ Bwd F Raw ﬁa:ﬂﬁl'!ﬁ fram &
fay smaegwart are gal 1 ANGYT FT THS {2

1. Give higher challenging tasks / 37fQ® g?m-ﬁ'{lff P ST
2. Give more tests / 3779 UJ&TOT AT
3. Providing support and tips / &AT 3R g&d et

4. Provide more homework /31T dj_eqvléfl Ucled hcl

Correct Answer :-

« Providing support and tips / I&ITaT 3R gsd |

14) Which of the following is an example of a lower order need in Maslow’ hierarchy of needs? /

famafaf@a & @ wla a1 At A raIFART F 9GEFA A AETaH FA A
T SHAT FT TF 3EEI0T 82

1. Esteem needs / TFATT I AT ITT
2. Self-actualization needs / 3TTcH-Y T ITITRATT
3. Safety needs / GI&IT P HTTIRATT

4. Love and belongingness needs / TIR Td HUAUA Pl HTGIBATT

Correct Answer :-

« Safety needs / gI&I hI ITARIDATT

15) Which among the following types of intelligence would be most used when trying to navigate

through traffic? / AFafaf@a & & fFa yR A B F1 3030, I@RT F AeTw F
Afadie FA AT FRNT F@ T fmar seem



1. Naturalistic intelligence / m gﬁs’

2. Spatial intelligence / TATAH Eﬂ?’
3. Interpersonal intelligence / AT Thed gﬁs\’

4. Emotional intelligence / #HTIATcHD @

Correct Answer :-

« Spatial intelligence / TATTA® g@'

16) A child receives a star for every correct answer she gets. What reinforcement schedule is

being used? / TF Tt A & WA 3N & v wF TR FAaar 31 fFw gedaor segh
&1 39AnT R a7 @ 8

1. Variable ratio reinforcement schedule / TRddeT AJurd g%élaﬁzm HW
2. Intermittent reinforcement schedule / HTART®H ﬁ?aWT T
3. Partial reinforcement schedule / 37fh ﬁ%élaﬁwl HW

4. Fixed ratio reinforcement schedule / fAf&ra 3gurd Qﬂ_%élaﬁlul 3-]@'\11??[

Correct Answer :-

17) One of the characteristic features of a Constructivist unit of study is that: / 37egdeT i TH
TATCHSRAIEIG SHhIE 61 THh {dvar a8 & &

1. It starts with what children know as an effective departure point for the lessons. /S&ehT [B3ATA
SEY Bl & 6 a=a urs & fou veh gwrdr geAre fog & & A Sed 2

2. Tests and assignments are aimed only at assessing the lower order thinking skills. / STTa (SEC) 3R

faa e (3EAsT) T 3T dhad e TAT AT PRI FI 3Theld HIAT &idl &l

3. It is propagated solely through teacher instruction. /IJg C[UTHZ et & A6 & ATH |
TR R ST ¥

4. Asking questions is discouraged in the learning process. / W TSl 37T9TeT &1 gfehar A
EdlcaTfed dT B

Correct Answer :-

« It starts with what children know as an effective departure point for the lessons. /S&ehr LB3ATA
SEY Bl & 6 a=a urs & fou v Tl qeAre g & & A Sed



18) Reading skills can be best developed by: / T&sT ®IRIel Y $H UTHAT GART HIH =B
T fasfd fFar s aFar &

1. Writing answers / 3o fer@er

2. Playing word games /doing quizzes / g8 AA Welel / foFast &

3. Focusing on the use of words in the text / OIS H QTeg] & YA W AT higd T
4. Doing vocabulary exercises / A<GIdell H¥FITH AT

Correct Answer :-

« Focusing on the use of words in the text / UTS 3 QUeql & 3UANT W AT dhigd el

19) Irrespective of the kind of impairment, all children are capable of: / ey gHR 6
ARG F FTaoE, T T e F warH A §:

1. Movement / Telel
2. Hearing / '{F—FT
3. Learning / ¥r@a
4. Seeing / cua

Correct Answer :-

« Learning / §1@a

20) What are inborn patterns of behavior that are biologically determined also called? /

AR F SeHaTd deet St Na-faer F yqar Auia g &, 378 I ot Fer a1 &
1.1d / ugaTd
2. Drives / gISd

3. Instincts / Heol AT

4. Intelligence / gi@iﬂal

Correct Answer :-

o Instincts / Heol JAl



What are the symptoms of Post- traumatic stress disorder in children? [aeat A qg-HTETT
dde {AFR (AT gAfes Feu BU3Ey) & Jafor a1 §2

1. Avoiding places or people associated with the event./ Tl & Tg@ TAET T AN F JI=T|

2. Having to think about or say something over and over. / dR-dR $S head IT 3Hb dRX H

|
3. Not have an interest in other people at all. / Q\HI‘I A W T & gl
4. Becoming annoyed with others./ qgul q AR |

Correct Answer :-

« Avoiding places or people associated with the event./ "l a %@; TATAT T AT § AT

22) What type of theory is one that proposes that development depends on things that are
inherited through genes? / & THR &1 m}-ﬂ? g JEd HICAT t & e 39 9iet W
fT #tar § N e & Aegw @ JAnE §?

1. A deterministic theory / T faafdarg fagrd
2. A social theory / Th HATSIh AgTd
3. A nature theory / Tch Cl'l?ﬁﬁl'cﬁ Rrgid

4. A nurture theory / Udh UTell-UIyoT g

Correct Answer :-

A nature theory / Udh CI'I?{?%EF RgTd

23) What type of thinking is associated with creativity? / & 4R &1 Raa gorarefierar &
Hafed giar 82

1. Convergent thinking / 3fRIRT AT

2. Divergent thinking / 3TeldT @I

3. Insightful thinking /3{dEf® & (3Aa@cPa fAfHT)

4. Transductive thinking / URATIF T (SrHsfdFea TAfHT)

Correct Answer :-

. Divergent thinking / 3TcldT @I



24) Who introduced the theory of Universal Grammar in language development?/ HT9T fa&r
# gfaadea AR F Aguia # fFFea 9 Fm

1. Piaget / OISR

2. Vygotsky / dATSIMNcaehr
3. Skinner / TEheX

4. Chomsky / TfFahT

Correct Answer :-

« Chomsky / eI

25) Intelligence is a product of both and environment./ i;l_;aﬁﬂ'ﬂT, sk
TATEROT gl FT UF 31 ¢

1. Culture / FEPHTA
2. Community / HETA
3. Heredity/ 31T T_Uehell

4. Society / HATST

Correct Answer :-

« Heredity/ 3TTeJdiRrehdT

26) The Minnesota Paper Form Board test is a test which measures one’s

_ ) eaer 99T wrd @1 qdieior, v qdaror g Y A H . Fr AMWar B
1. Verbal Reasoning/ #lf & dd

2. Aptitude/ JIIAT

3. Personality/ e fhca

4. English Skills / 373 apierer

Correct Answer :-

« Aptitude/ JNTIT

27) A student is asked to find different methods to evaluate the value of pi. This would mainly
involve which of the following operations? / Te ST &I GI31TS & AT HI ﬂﬂTﬁ' I & foT



faffe=r yorreh 1 7ira F F AT FgT A1 8| 59H AT ™ F AAfaf@a & & Fle @
TR enfAer gem?

1. Evaluation /EELFCIW

2. Convergent thinking / 3TTRART ideT
3. Divergent thinking / 3709 Ria=

4. Learning / 31Ta13T

Correct Answer :-

« Divergent thinking / 3T98RY [”Rid=r

28) Classical conditioning was developed by: / FaTf@®d FHeareraer (Rufafsa
Yeldhae AT A eqaee) foaeer F & frwd qanr sl e 8

1. Bandura /ET'U§1T
2. Pavlov / OTdelid
3. Kohler/a"ﬂ'e‘-?lT
4. Piaget / IR

Correct Answer :-

« Pavlov / UTdelta

29) Selecting specific stimuli through sensation is a characteristic of: / AT & HIgH I
fafRry IEu= &1 987 FA o1 Sfaer @

1. Attention / IdYT
2. Critical thinking / 3Te<T fideT
3. Concept / 3TdYROM

4. Perception /g

Correct Answer :-
« Perception / aTY

30) Animism is the belief that everything that exists has some kind of consciousness. Which of the
following does not describe the idea of Animism in children at the pre-operational stage of



development? / TdTcaTg Ig fayrT g fh ot $© i Hivg 8 SUH fell ysR @t 9a1 81
Mﬁé@aﬁﬁwﬁm%ﬁmwwﬁﬁm%mmmﬁﬁ
Al 8?2

1. A child who hurts his leg while colliding against a chair will happily smack the ‘naughty chair’./
Teh dedl St Ueh Pal & T §U 30 W Al e ggdrr & Gl & RRA ol o
Uehol I |

2. A child dresses up as “fireman’ for a fancy-dress competition / tHll 38 gfaaifaar & fow e
o] BRRAT & § A IR T Bl

3. A high mountain will be thought of as ‘old’/ T 5 Tdd &I QAT HIAT AT

4. A car which won’t start will be described as being “tired’ or ‘ill’/ Teh BR Fa A& el fopar
ST 38 'hT §IHT AT 'NAR IAAT ST |

Correct Answer :-

« A child dresses up as ‘fireman’ for a fancy-dress competition / e 38 gfaAfar & fov v
I BRRAF & FT # IR BT &l

Topic:- General Sanskrit(L1GS)

Hafd T SIET 37: &t ?

_ 87afa |
_ #1afd |

317

Correct Answer :-



Teh¥HA Ul &id feaar: died ?
 USEe |

zagéarl

e

431WEQTI

Correct Answer :-

? ave eeednt & fasfad: wgead 2
1. Tt |

g |

_ efadrr |

, T |

Correct Answer :-

.ar;raﬁl

) . .
e Cor qferssT 9ag ug foha ?




ool |

R |

HOHTOT: |
1.

EFI?jFé]T: |
2. 0y
, FAII: |
. qocdl: |

6) c :
MAITT SAET TAATRART fehe ?
ITSd |

1. =




 30TeSd |
3L |
4LH|

Correct Answer :-

" g uran: Fear uead &9 R 2
| fer@facar |

_ faf@car |
BQEﬁaTl

, AT |

Correct Answer :-

K CIGIE SAIC-TH-Jey-Igaa-1ey fhe] ?
e |

T |
1.

 3787ae |



AT |
3, S

Hdod |
4 )

Correct Answer :-
Hd ra.::- |

Y e seuey Reeaed e 2
_ fAgrar: e |

 fo¥ar q@

3lﬁ|§|'ﬂT:Elﬁl

CCUCL

Correct Answer :-

10)

HEREATHT 3fd UeqT Hel®y foha ?

ARG HA |

1.

Z.Wﬁﬁl



HEIEAIA: |

3.
AL AT |
4. S

Correct Answer :-

HAGIEATTHT |

1

arefrARcargaTH |
) < i
NEFENCCICTE i
3.

ArefeharceH |
4.

Correct Answer :-

aréfeharce |



BGEN
th|

Correct Answer :-

| GaTST |

JCCaRIl: |
4,

Correct Answer :-

) ‘HUIqT’ ScIET Uile] g qUSh forad |

UgT |

1

2$3—TT3—TUT3-TEFET3TII

L H 3L

3



A IUIAT S L3

4

Correct Answer :-
@ ALY S>3

15)

D

dd¢ﬂdg [ ohl ?

| ST |
_ SITATCT |
| SiTeTehT |

, SfeTeTl |

Correct Answer :-

_ SATeTehT |

=T HG: |
. o o

3

JoddAT |
4,



Correct Answer :-

el Hg: |
. o o

7 e¢3: 3T TEAT Use: for@d |
CUECHIBCaNG LU
 GfaTRIGfsrSegRrras |

_ ARG TaTSCTGRrRIaH |

| GaTTARIGTIRTSCTRIH |

Correct Answer :-

GaTARIGTERTSCIGRIITH |

QA |
2.

3 } l

adIarRT |
Plia

Correct Answer :-

e |



T |
I |
3. ©

4,
Correct Answer :-

gdd |

1. el
faeger: |
2

ECTICRI
) faegm3mer|

Correct Answer :-



e ScIF UAT: &: ?
AT |
1.

T |

2

3$g-_<:|||

ody |
4. o

Correct Answer :-

o R e |

 UEEA AW gl wall sad: |
 UHTEH A gdl gail v |
U A cdl gall sa: |
4:ua:1%ﬂ3ﬂmaﬁq&ffaaﬁzl

Correct Answer :-

 USIEA A dl el #1ad: |




_ 3cdH |
TUH |

_ TerAledH |
, TEgH |

Correct Answer :-

HEGH |

[ cd: |
. e |

4

Correct Answer :-



3R |
3laﬁ‘|
| 3TEd |

Correct Answer :-

 gied |

26)

SIS ) T & ?
e
3¢, |
2.
dre, |
3.
_ad |

Correct Answer :-



331%“
4.31ﬁm|

Correct Answer :-

~3TEA |

® PIsEHA, AT AloUTaess Fed |
Al + GH |
1.

2$:+31€?:[I
, P+ g |
Pl + 31EH |
4,

Correct Answer :-




4, = 2 “l

Correct Answer :-

AT TATE HReAT et Tedd |

1dHrd%ﬂT|
fafaeRmal |

N %Hrd—ﬂi(‘ﬁ |

2.

SINEETS I

Correct Answer :-

. %Hrd-’fi(‘ﬁ |

Topic:- General English(L2GE)

1) Fill in the blanks with the most appropriate preposition in the given sentence.

A learner’s language development infancy three years of age will depend on their exposure to
the language.

1. by, to
2. by, from
3. from, until

4, across, until

Correct Answer :-



e from, until

2) Fill in the blank with the correct option in the given sentence:
After exercising for six hours, she fell down due to exhaust--.

1. ---tion

2. ---sion

3. ---ance

4. ---ing

Correct Answer :-

3) Choose an appropriate modal for the given sentence:

I expected that I get a high score in Maths.
1. can

2. may

3. would

4, should

Correct Answer :-

» would

4) Choose the most appropriate determiner in the given sentence.
officer in the field has a key to the building.

1. Every

2. Many

3. Some

4. Most

Correct Answer :-

» Every



5) Choose the appropriate prepositions for the given sentence:

My mother, having her tea, settled a cozy armchair.
1. before, for

2. 0on, by

3. of, in

4, after, into

Correct Answer :-

o after, into

6) Choose the appropriate conjunction for the given sentence:

My friend did not play well, did I.

1. neither
2. either
3. because

4. only

Correct Answer :-
e neither

7) Choose the appropriate antonym for the highlighted word in the given sentence.

My father entered the room with an agitated look on his face.
1. Amused

2. Pompous

3. Cruel

4. Serene

Correct Answer :-

e Serene



8) Choose the appropriate option that rewrites the given sentence in its active voice.

Suggestions are invited sincerely by me for further improvement of my book.
1. | have sincerely invited suggestions for further improvement of my book.

2. | am sincerely invited suggestions for further improvement of my book.

3. I sincerely invited suggestions for further improvement of my book.

4. | sincerely invite suggestions for further improvement of my book.

Correct Answer :-
| sincerely invite suggestions for further improvement of my book.

9) Choose the appropriate synonym for the highlighted word in the given sentence.

Logging causes a great deal of environmental damage.
1. Cutting down of trees

2. Blocking

3. Making log cabins

4. Flooding

Correct Answer :-

« Cutting down of trees

10) Choose the option that best transforms the sentence into its Indirect form:

He said, “"God is great.”

1. He said that God is being great.
2. He said that God was great.

3. He said that God is great.

4. He says that God is great.

Correct Answer :-

e He said that God is great.



11) Choose the option that best explains the highlighted expression:
This camera of mine has seen better days.

1. is now in poor condition

2. is new and working well

3. was not working well

4. is good and working well

Correct Answer :-

e isnow in poor condition

12) Choose the option that best explains the highlighted expression:

To run out of mental alertness is worse than to run out of physical fitness.
1. To have plenty of

2. To be deprived of

3. To be drained of

4. To possess

Correct Answer :-
¢ To be drained of

13) Choose appropriate articles for the given sentence:

Chief Minister and Prime Minister are attending __ meeting at 10.00 am.
1. No article required, the, a
2. The, a, no article required
3. The, the, the

4, The, a, the

Correct Answer :-

e The, the, the

14) Read the sentence carefully and choose the option that has an error in it:



I have scarcely no qualms about the rights and wrongs of my doing.
1. | have scarcely no qualms

2. about the rights and wrongs

3. of my doing.

4. No error

Correct Answer :-

¢ | have scarcely no qualms

15) Read the passage carefully and answer the question given below:

Cartography is the study and practice of map making; it is a combination of science of data
collection, data analysis and the art of data representation and aesthetics. Maps help us in
understanding our surrounding better by graphically representing the different spatial features.
Maps convey geographic information about weather, topography, routes, town plans and culture
depending upon the type of map. Early forms of cartography were practiced on clay tablets and cave
walls that depicted the immediate surroundings. With the advancement of technology and
exploration the maps were produced on papers that depicted areas that various explorers travelled.
Today maps show an assortment and plethora of information. The advent of technology such as
Geographical Information Systems (GIS) allows the collection of spatial data easier. Information
technology has gone through rapid changes, and GIS is one of them. It has helped various
companies and governments institution in their decision making process through real time
interactive maps.

What is cartography?

1. Itis a photograph of the earth.
2. It is a drawing of the earth.

3. It is the study of map making.

4. It is a graph of the earth.

Correct Answer :-

e ltis the study of map making.

16) Read the passage carefully and answer the question given below:

Cartography is the study and practice of map making; it is a combination of science of data
collection, data analysis and the art of data representation and aesthetics. Maps help us in
understanding our surrounding better by graphically representing the different spatial features.
Maps convey geographic information about weather, topography, routes, town plans and culture
depending upon the type of map. Early forms of cartography were practiced on clay tablets and cave
walls that depicted the immediate surroundings. With the advancement of technology and



exploration the maps were produced on papers that depicted areas that various explorers travelled.
Today maps show an assortment and plethora of information. The advent of technology such as
Geographical Information Systems (GIS) allows the collection of spatial data easier. Information
technology has gone through rapid changes, and GIS is one of them. It has helped various
companies and governments institution in their decision making process through real time
interactive maps.

How has GIS helped companies in decision making?
1. By providing real time interactive map features

2. By providing an assortment of information

3. By providing artistic maps.

4. By providing digitally printed maps

Correct Answer :-

e By providing real time interactive map features

17) Read the passage carefully and answer the question given below:

Cartography is the study and practice of map making; it is a combination of science of data
collection, data analysis and the art of data representation and aesthetics. Maps help us in
understanding our surrounding better by graphically representing the different spatial features.

Maps convey geographic information about weather, topography, routes, town plans and culture
depending upon the type of map. Early forms of cartography were practiced on clay tablets and cave
walls that depicted the immediate surroundings. With the advancement of technology and
exploration the maps were produced on papers that depicted areas that various explorers travelled.
Today maps show an assortment and plethora of information. The advent of technology such as
Geographical Information Systems (GIS) allows the collection of spatial data easier. Information
technology has gone through rapid changes, and GIS is one of them. It has helped various
companies and governments institution in their decision making process through real time
interactive maps.

In this passage, “clay tablets” mean:
1. Aflat slab of clay

2. A capsule made of clay

3. A floor made of clay

4. A small portable computer

Correct Answer :-

« Aflat slab of clay



18) Read the passage carefully and answer the question given below:

Cartography is the study and practice of map making; it is a combination of science of data
collection, data analysis and the art of data representation and aesthetics. Maps help us in
understanding our surrounding better by graphically representing the different spatial features.
Maps convey geographic information about weather, topography, routes, town plans and culture
depending upon the type of map. Early forms of cartography were practiced on clay tablets and cave
walls that depicted the immediate surroundings. With the advancement of technology and
exploration the maps were produced on papers that depicted areas that various explorers travelled.
Today maps show an assortment and plethora of information. The advent of technology such as
Geographical Information Systems (GIS) allows the collection of spatial data easier. Information
technology has gone through rapid changes, and GIS is one of them. It has helped various
companies and governments institution in their decision making process through real time
interactive maps.

Find the synonym of the word Plethora.
1. Abundance

2. Variable

3. Understandable

4. Legible

Correct Answer :-

e Abundance

19) Read the poem carefully and answer the question given below:
Yesterday I got sick

Because of all the germs around me
So I stayed indoor and planned a trick

The thought filled me with glee

On my hassled, hapless mother
Busy making an eggplant dip
Hard at work in the kitchen

With the baby at her hip

Shoo... Get out of here, she said
But baby gave me a smile

So I hid outside for my next victim



I knew I only have to wait a while.

Where was the speaker after he fell sick?
1. At the park

2. At school

3. In the garden

4, At home

Correct Answer :-

e Athome

20) Read the poem carefully and answer the question given below:
Yesterday I got sick

Because of all the germs around me
So I stayed indoor and planned a trick

The thought filled me with glee

On my hassled, hapless mother
Busy making an eggplant dip
Hard at work in the kitchen

With the baby at her hip

Shoo... Get out of here, she said
But baby gave me a smile
So I hid outside for my next victim

I knew I only have to wait a while.

Who said, “Shoo...get out of here”
1. Child

2. Teacher

3. Mother

4. Baby



Correct Answer :-

e Mother

21) Read the poem carefully and answer the question given below:
Yesterday I got sick

Because of all the germs around me
So I stayed indoor and planned a trick

The thought filled me with glee

On my hassled, hapless mother
Busy making an eggplant dip
Hard at work in the kitchen

With the baby at her hip

Shoo... Get out of here, she said
But baby gave me a smile
So I hid outside for my next victim

I knew I only have to wait a while.

What is the literary device used by the speaker in this line:
On my hassled, hapless mother.

1. Alliteration

2. Metaphor

3. Simile

4. Onomatopoeia

Correct Answer :-
o Alliteration
22) Read the poem carefully and answer the question given below:

Yesterday I got sick

Because of all the germs around me
So I stayed indoor and planned a trick



The thought filled me with glee

On my hassled, hapless mother
Busy making an eggplant dip
Hard at work in the kitchen

With the baby at her hip

Shoo... Get out of here, she said
But baby gave me a smile
So I hid outside for my next victim

I knew I only have to wait a while.

The speaker got sick because of .
1. germs

2. the sun

3. over eating

4, dust

Correct Answer :-

23) Choose the right tag:

They were late as usual, ?
1. did they

2. didn't they

3. weren't they

4. were they

Correct Answer :-

* weren't they

24) Choose the option that substitutes the given phrase appropriately.



A doctor who specializes in the treatment of children
1. Obstetrician

2. Entomologist

3. Pediatrician

4. Gemologist

Correct Answer :-

* Pediatrician

25) Choose the correct word to complete the given sentence.

My brother and ___ are going to spend _____ vacation at a seaside resort.
1. they, theirs

2. he, his

3. me, its

4.1, our

Correct Answer :-

26) Choose the appropriate tenses to fill in the blanks in the given sentence:

Every day, thedog ___ at the gate and the gatekeeper _____ him.
1. wait, feed

2. waits, feeds

3. has waited, feeds

4. is waiting, is fed

Correct Answer :-

o waits, feeds



27) Choose the most suitable option to express the meaning of the sentences combined together.

The wind blew. The lightning splashed. The rain started falling.
1. The wind blew, the lightning splashed but the rain started falling.

2. The wind blew, the lightning splashed while the rain started falling.
3. The wind blew, the lightning splashed when the rain started falling.

4. The wind blew, the lightning splashed and the rain started falling.

Correct Answer :-
o The wind blew, the lightning splashed and the rain started falling.

28) Fill in the blank with the correct option in the given sentence:

An organization wants of its employees.
1. loyal

2. loyalty
3. loyally

4. lawfulness

Correct Answer :-

29) Fill in the blank with the correct option in the given sentence.

My father’s computer is five years old and it needs to be --graded.
1. super-

2. up--

3. down-

4, de--

Correct Answer :-

30) Change the given statement to indirect speech.



She asked, “"Do you go to school every day?”
1. She asked me that if [ went to school every day.
2. She asked me if [ went to school every day.

3. She asked that if I go to school every day.

4. She asked that do you go to school every day.

Correct Answer :-

» She asked me if I went to school every day.
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